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Data: Fe I 15650 Å

GRIS@1.56µm: Spectral region
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Data: Fe I 15650 Å

Scan of pore with quiet sun region (2014-Sep-08)
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x , y = 455′′, 247′′ (µ = 0.84)
exp. time: 1 s/pixel and mod. state
noise level (unbinned): 4 · 10−4 IC

λ/∆λ ≥ 150000, 40 mÅ sampling
spatial resolution: 0.′′35 (close to diff.
limit), sampling: 0.′′126

IC Q U V



Data: Fe I 15650 Å

Scan of pore with quiet sun region (2014-Sep-08)
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Inversion setup
Milne Eddington in 6 Fe I lines
15631 – 15665 Å, line strength as free parameter

free parameters
B, φ, γ, vLOS, vD,a,S1, η0, α

global straylight (broad PSF wings)

B AZI INC vLOS



Data: Fe I 15650 Å

Scan of pore with quiet sun region (2014-Sep-08)
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Inversion setup
Milne Eddington in 6 Fe I lines
15631 – 15665 Å, line strength as free parameter

free parameters
B, φ, γ, vLOS, vD,a,S1, η0, α

global straylight (broad PSF wings)

B AZI INC vLOS



Inversion results: very quiet region

Very quiet sun region (2014-Sep-08)
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IC Q U V

All pixels



Inversion results: very quiet region

Very quiet sun region (2014-Sep-08)
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B AZI INC vLOS

All pixels



Inversion results: very quiet region

Very quiet sun region (2014-Sep-08)
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B AZI INC vLOS

All pixels

remove all pixels with low signals
Survival of IG lanes or granules?



Inversion results: very quiet region

Very quiet sun region (2014-Sep-08)
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B AZI INC vLOS

[(Q∨U) > 3σ]∨ [V > 4.5σ]

Mainly granules!
... and some IG lanes



Inversion results: very quiet region

Stokes Profiles: Granule (TP) > 3σ
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Inversion results: very quiet region

Histogram: Magnetic Field Strength (Very quiet region, 40–50 Mx cm−2)
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Inversion results: very quiet region

Histogram: Magnetic Field Inclination (Very quiet region, 40–50 Mx cm−2)

γ, All Pixels
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Inversion results: very quiet region

2D-Histogram: B vs. γ (Very quiet region, 40–50 Mx cm−2)
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Inversion results: very quiet region

2D-Histogram: B vs. γ (Very quiet region, 40–50 Mx cm−2)
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Extremely Quiet Sun Fields
magnetic field strength: 20–150 G
predominantly horizontal
fewer and (mainly) weaker vertical fields
resulting from tiny Stokes V signals



Inversion results: very quiet region

2D-Histogram: B vs. γ (Very quiet region, 40–50 Mx cm−2)
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Extremely Quiet Sun Fields
magnetic field strength: 20–150 G
predominantly horizontal
fewer and (mainly) weaker vertical fields
resulting from tiny Stokes V signals

Question:
Where are the

kilo-Gauss fields?



Search for kilo-Gauss fields
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Search for kilo-Gauss fields
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Search for kilo-Gauss fields
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Search for kilo-Gauss fields
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Search for kilo-Gauss fields

  

 

 

 

 

 

1.0

1.5

2.0

2.5

3.0

[G
] 

(l
o

g
)

26 28 30 32 34 36
x [arcsec]

      

35

40

45

50

55

y
 [

ar
cs

ec
]

 

 

 

 

 

  

 

 

 

−50

0

50

[d
eg

]

26 28 30 32 34 36
x [arcsec]

      

35

40

45

50

55

 

 

 

 

 

  

 

 

 

 

0

50

100

150

[d
eg

]

26 28 30 32 34 36
x [arcsec]

      

35

40

45

50

55

 

 

 

 

 

  

 

 

 

 

 

−2

−1

0

1

2

[k
m

/s
]

26 28 30 32 34 36
x [arcsec]

      

35

40

45

50

55

 

 

 

 

 

8 / 20

B AZI INC vLOS

[(Q∨U) > 3σ]∨ [V > 4.5σ]



Inversion results: network patch

Histogram: Magnetic Field Strength (QS + network fields, ≈150 Mx cm−2)
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Inversion results: network patch

Histogram: Magnetic Field Strength (QS + network fields, ≈150 Mx cm−2)

B, All Pixels
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Inversion results: network patch

Histogram: Magnetic Field Inclination (QS + network fields, ≈150 Mx cm−2)
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Inversion results: network patch

Histogram: Magnetic Field Inclination (QS + network fields, ≈150 Mx cm−2)
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Inversion results: network patch

2D-Histogram: B vs. γ (QS + network fields, ≈150 Mx cm−2)
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Inversion results: network patch

2D-Histogram: B vs. γ (QS + network fields, ≈150 Mx cm−2)
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kilo-Gauss fields
in network patches



Inversion results: network patch

2D-Histogram: B vs. γ (QS + network fields, ≈150 Mx cm−2)
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Stenflo (2010) “ ... magnetic dichotomy with two distinct populations”

1 collapsed: kG, extremely vertical
2 uncollapsed: weak fields, asymptotically isotropic at zero flux



S/N study

S/N Study: Stokes maps: QUV flags
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S/N study

S/N Study: Stokes maps: QUV flags

QS

2 4 6 8 10 12 14
x [arcsec]

       

35

40

45

50

55

y
 [

ar
cs

ec
]

 

 

 

 

 

(Q
 o

r 
U

)>
3
.0

σ

V
<

4
.5

σ

  
(1

8
.9

%
)

V
>

4
.5

σ

(Q
 o

r 
U

)<
3
.0

σ

  
(2

1
.3

%
)

(Q
 o

r 
U

)>
3
.0

σ

V
>

4
.5

σ

  
(1

8
.4

%
) network

26 28 30 32 34 36
x [arcsec]

      

35

40

45

50

55

y
 [

ar
cs

ec
]

 

 

 

 

 

(Q
 o

r 
U

)>
3
.0

σ

V
<

4
.5

σ

  
(1

3
.6

%
)

V
>

4
.5

σ

(Q
 o

r 
U

)<
3
.0

σ

  
(2

6
.2

%
)

(Q
 o

r 
U

)>
3
.0

σ

V
>

4
.5

σ

  
(2

5
.3

%
)

10 / 20

inter-
mediate

incl.

mainly
vertical

mainly
horizontal



S/N study

S/N Study: Histograms
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Selection: “robust” results



S/N study

S/N Study: Histograms
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σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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Selection: “only horizontal”
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Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)Ntot=4196 (=21.4%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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Selection: “intermediate inclinations”
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σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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Selection: “vertical”
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Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04

  

 

 

 

 

 

 

 

0.5

1.0

1.5

2.0

2.5

3.0

3.5
ME: (Q and U)<2.0σ and V>4.5σ

0 50 100 150
γ [o]

    

1.5

2.0

2.5

3.0

 

 

 

 
4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%4.3%

95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%95.7%

Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)Ntot=893 (=4.6%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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Selection: “strictly vertical”



Height-dependent inversions

Comparison ME to SPINOR inversions: log τ = 0.0
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6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%

93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%

Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04

  

 

 

 

 

 

 

5

10

15

20

25

30

ME: (Q or U)>3.0σ or V>4.5σ

0 50 100 150
γ [o]

    

1.5

2.0

2.5

3.0

 

 

 

 
9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%

90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%

Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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Height-dependent inversions

SPINOR inversions: simple 1D, log τ = 0.0
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2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%2.1%

97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%97.9%

Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)Ntot=17873 (=91.1%)

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04
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3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%3.7%

96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%96.3%

Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)Ntot=9893 (=50.4%)

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04

logτ= 0.0
σ=3.9e−04
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Height-dependent inversions

SPINOR inversions: local straylight removed, log τ = 0.0
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3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%3.5%

96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%96.5%

Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)Ntot=18020 (=91.8%)

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03
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12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%12.4%

87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%87.6%

Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)Ntot=3872 (=19.7%)

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03

logτ= 0.0
σ=1.9e−03
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Height-dependent inversions

Comparison ME to SPINOR inversions: log τ = −0.8
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6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%6.6%

93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%93.4%

Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)Ntot=17245 (=87.9%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%9.4%

90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%90.6%

Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)Ntot=11476 (=58.5%)

σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04σ=3.9e−04
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Height-dependent inversions

SPINOR inversions: simple 1D, log τ = −0.8
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0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%

100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%

Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)Ntot=17107 (=87.2%)

logτ=−0.8
σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
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0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%0.0%

100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%100.0%

Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)Ntot=10513 (=53.6%)

logτ=−0.8
σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
logτ=−0.8

σ=3.9e−04
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Height-dependent inversions

SPINOR inversions: local straylight removed, log τ = −0.8
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0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%0.3%

99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%99.7%

Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)Ntot=16287 (=83.0%)

logτ=−0.8
σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
logτ=−0.8

σ=1.9e−03
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Comparison to literature

Comparison: Danilovic et al. (in preparation)

2D inversions of Hinode data: log τ = 0; log τ = −0.8; log τ = −2.0
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Summary

Quiet Sun & Network: Summary

Quiet Sun & Network Fields: two distinct populations
1 very quiet-Sun region

prevalent horizontal
dominated by weak fields:

inversion log τ = −0.8 log τ = 0
ME 50–150 G
1D 30–100 G 50–200 G

LS removed 30–100 G 80–400 G

no kG fields
2 quiet-Sun regions with network

same distribution as very quiet Sun
+ mainly vertical, > 1 kG fields
kG fields only in deepest layer

In-between bins are sparsely populated:
few hG fields & intervening inclinations
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